
Tuesday, March 19, 2019

Warm-up
An engineer measured the Brinell hardness of 25 
ductile iron that were subcritically annealed.  The 
resulting data were:
170 167 174 179 170 156 163 156 187
156 183 179 174 179 170 156 187 179
183 174 187 167 159 170 179

Test the hypothesis of the engineer that the mean 
Brinell hardness of all such ductile iron pieces is 
greater than 170.

Check Homework
Computer Output
Sample Size



Objectives

Content Objective: I will read computer output and use that 
information to create confidence intervals and/or perform a 
hypothesis test.
Social Objective: I will participate with my partner and try to have 
fun with the activity.
Language Objective: I will write clearly in my scenario so that others 
can understand.
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Complete a hypothesis test for this physiologist.



Write a valid interpretation of the confidence interval.



• To find the sample size needed for a particular 
confidence level with a particular margin of error (ME), 
solve this equation for n : 

• The problem with using the equation above is that we 
don’t know most of the values. We can overcome this:
• We can use s from a small pilot study.
• We can use z* in place of the necessary t value.
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We would like to estimate the mean teacher’s salary in the Chapel Hill school 
district, with 99% confidence, to an accuracy within $2,000. In this case we 

have no idea what s would be. But in previous studies there we deduced that 
among four possible values that were given, the likeliest was $6,000. So in the 

absence of anything better, let’s use that as our guess for s.  How many 
teachers will we need to sample to get a good estimate within our parameters?
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Homework
p 554 (9-12)


